E2LAE HAIS 80| YD

© HEINRICH KIPP WERK GmbH & Co. KG

EEX|7} fl= 28 =2 222

&g

UK

AR T

3 E Es xMel

dE = 5.8.

AH|QlEA AR HT:

= & 83t Mel

LIAF &£21E 1.4305.

= £l 1.4034.

H2E, S3tEx| kg

LEAL &2|E 1.4305.

EHZE 1.4305.

AR QR &2 ZHdXJAH

EMH OIF2|

25T

= B Fs ook, A st &2
AE|QIBA AE! T

a2 #st, odnt 3 g

HEE s, olot Y 2YAER| oS
HH.:

ol BX| £ 53 of of3t &3 2Ixlo)
HEE YX|aHo t= ol AFSE. T
ZEE $+S02 E S [}E M3 x2
OlSE =+ US.

H=2 EEE ZO0|7| Rl 237 QI &AME
22t £ Q2 LA st HAZRF -
Nﬂ%HEMH? EoleRez
MUE|ES 3

LEA|

S5 A7 B

MM

A 0|M & K0665

www.kipp.com - info@kipp.com 1/3



[ ]
=ZalLAE S olT] = 1= AEISS A A
=cfAE] XS 8I0] 131 ER/MX|IL gl= 28 =2 2212
C =
oluA E8X
=M
~
]
- ;
T
~J :
D -0,02
-0,04
g ———
. |
E5 20
FEHS Ef 2l =4 74 & E: 3T D D1 D2 L L1L2 AEE3 Fx30° A= Bk FE s
7|2 A S Bt B 237 2l 2kM
F12E.N F22.N
K0344.1105 G AE 43 5 M10x1 21 47 24 18 5 1,3 5 12 K0344.91
K0344.1206 G AE a5t 6 M12x1,5 25 56 28 22 6 1,8 6 14 K0344.92
K0344.1308 G ES 48 8 M16x1,5 33 74 36 30 8 2,3 15 35 K0344.93
K0344.1410 G AE 43 10 M20x1,5 33 80 40 30 10 2,8 15 34 K0344.94
K0344.01105 G AH|QIE|A AR 45t 5 M10x1 21 47 24 18 5 1,3 5 12 K0344.91
K0344.01206 G AHQIE|A AR 43 6 M12x1,5 25 56 28 22 6 1,8 6 14 K0344.92

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
o= = — o — ——
SZtAE HAYE Jglo] 11 SEX|I| gls AE =2 AHQ12A
]
O|I:-II¢ EE.l_-lx-l
Z=2 29
FEHS EF9] PPN ES EH D D1 D2 L L1L2 AEE3 Fx30° AlE EE FEHS
718 == S ErN 52 A3 57 QM
F12. N F22.N
K0344.01308 G  AEIQIEIA AE] 43 8 M16x1,5 33 74 36 30 8 2,3 15 35 K0344.93
K0344.01410 G  2HQIFA AE 78 10 M20x1,5 33804030 10 2,8 15 34 K0344.94
K0344.11105 G  AE|QlE|A AE HIZZ3 5 M10x1 21 47 24 18 5 1,3 5 12 K0344.91
K0344.11206 G  AEIQIEIA AE HIZE8 6 M12x1,5 25 56 28 22 6 1,8 6 14 K0344.92
K0344.11308 G  AEHQEIA AE! HIZ3 8 M16x1,5 33 74 36 30 8 23 15 35 K0344.93
K0344.11410 G  AE|QlE|A AE HIZZ3 10 M20x1,5 33 80 40 30 10 2,8 15 34 K0344.94

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com  3/3



